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431,200 465,155 33,955 8 g2 A 431,200 465,155 33,956 8
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| 431,200 | 465,155 | 33,956 8
Ab| ol 74| 2~ 7 304,504 | 319,207 | 14,703 5
2 o 034,056 | 250,028 | 15,072 6 |12z 2% 9 53 = 160,730,000
Ferolad 1,353,000 «6% <1171 2 89,298,000
SIE=y 34,436 31,085 |- 3,351 |- 10 |[HAEEFIH| 2HEF 9| 5 15,808,200
Herelzd 100,000% «6% «23] 1,200,000
RIS = 3,128, 0002 «0%+37H 844 560
pJEaS 2,820,000
NEI 7,928,140
of R4t 2,484,580
553 2 :
g x X2 2 15,514 18,146 2,632 17 |EI2 2 ¥ EAAHEZ AEZM /1271 18,145,990
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2 E = off &4 11Xt &= of & & & U oA (chel o ¥)
(A) (B) o | H|S(%)
AsSAEATTE

SEHHAM 97,800 +13| = 97,800
PN 2,200 3,100 900 41 |AERRH 50,000 «4CH 75| = 1,400,000
AZFHH|RX| ], 22 F| 7| 2t 3o MHu|RX|H| = 1,700,000
7| Et2 g H| 5,699 5,300 |- 399 |- 7| ns 2 AX| | 450,000 %103] = 4,500,000
TEENNAFERE, 500000
7| Et2 GH| 300,000

AZEAMH| | AlAdH]| ~ A 8,445 4,300 |- 4,145 |- 49
Al dH] 200 300 100 50 |AlAdu| 300,000
NAE 7,245 3,000 |- 4,245 |- 59 |RIAF SH| Moz HIHIE S FYH| = 3,000,000
AlMEH| 7 X|H| 1,000 1,000 - - A A ZH| 7 X[ He[(BWA SAP|, A FH, HES) 7XIH| = 1,000,000

AbdHl | 72 AL ~ A 74,392 95,192 | 20,800 28
YR A Al 43,500 42,000 |- 1,500 |- 3 At g x| | 2,000,000
AN | EHFE XY = 18,500,000
ojAx = ga 2HX|AH] =| 10,000,000
o= 7H 2GR HH| = 2,500,000
SUE0RYAl RLX| Y| = 6,000,000
AlEEAA T 25| = 3,000,000
ZAA T AL | 2,600 2,900 300 12 |Ard " 713l 2l 500,0009x23| = 1,000,000
Al AR e ol | 100,000 «13] = 100,000
MRIx| A st 900.0008x23| = 1,800,000
At 22| Abeie] 16,860 18,360 1,500 9 |Z2ZHE 5,160,000
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(A) (B)
HMX| A AL 5,000 5,250 ool At 1,500,000 13| = 1,500,000
eI XA 1,000,000
st 28 ELHs AL | 1,250,000
SHEQIX| YA 500,000
AtEo| Lz At H| 1,000,000
SEAAH 1,132 882 XA ALE| & 2| 250,000 *33| = 750,000
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L!%Q:"%thHEL Al 2|od 2kl iy 2 000.000
Aot 2,000 18,900 A PO 27 e , ,
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X}%iH:ﬁEﬁJ}a 1,300 1,600 At S AR HE 3 300,000@+28] = 600,000
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DGBLA et XX A S x| = FALOY 2|x138| =
24 3 ol AT 1] - 3,500 WSHIISEUALY 3,500,0008! *1 8| 3,500,000
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